INTERMEDIATE CORPORATE FINANCE
         Exam I  Sample Questions

Part A (85 points)

1 (7) Given a risk-free rate of 5% and a S&P 500 Index  return of 12%, what should be the expected return on a security with a beta of 0.7?

2. (15) A bond has an annual 8 percent coupon rate, a maturity of 10 years, a face value of $1,000, and makes semiannual payments.   The bond is callable in 5 years for $1080, and it sells for $934.96.  
a.  (8) Calculate the annual nominal yield to maturity.
b.  (7) Calculate the annual nominal yield to call on the bond.

3.. (8) The par value of the Johnston Corporation’s preferred stock is $125, and the stock has a stated dividend of 10 percent of par.  The cost of preferred stock (rps) is 7 percent.  What is the market value of the preferred stock?

4. (20) Club Auto Parts' last dividend, D0, was $0.50, and the company expects to experience no growth for the next 2 years.  However, Club will grow at an annual rate of 5 percent in the third and fourth years, and, beginning with the fifth year, it should attain a 10 percent growth rate which it will sustain thereafter.  Club has a required rate of return of 12 percent.  
a. (10) What should be the price per share of Club stock today?

b. (10) What should be the price per share of Club stock at the end of the second year, P2?  

5.  a. (4) A company has the following income statement.  What is its net operating profit 

 after taxes (NOPAT)?


Sales
$1,000


Costs
600


Depreciation
     250

EBIT
$  150


Interest expense
    50

EBT
$  100


Taxes (40%)
    40

Net income
$   60
b. (6) A company has the following balance sheet.  What is its net operating working capital?


Cash
$ 10
Accounts payable
$ 30


Short-term investments
  30
Accruals
  10


Accounts receivable
  50
Notes payable
   50

Inventory
   40
   Current liabilities
  90


   Current assets
 130
Long-term debt
  60


Net fixed assets
   100
Common equity
  30




Retained earnings
   50

Total assets
$230
Total liab. & equity
$230
c. (10)     Giglio Inc. has the following information for the previous year:  Net income = $400; Net operating profit after taxes (NOPAT) = $500; Total assets = $2,000; and Net operating working capital =$600 and Net plant & equip. =$1100.

            The information for the current year is:  Net income = $800; Net operating profit after taxes (NOPAT) = $700; Total assets = $2,300; and Net operating working capital =$700 and Net plant & equip. =$1400. 

            What is the free cash flow for the current year?

6. (15) Sheila  expects that her daughter will start  college 5 years from now.  She expects the tuition and other expenses for the first year to be $10,000.  She expects these costs to increase by 3% annually.  She expects that her daughter will finish college in 4 years.  She has set aside $7,000 already in a bank account for the college expenses.  If she can earn 10% on her money, what should her annual savings be over the next 5 years in order to meet her daughter’s college expenses fully?  (Note: The first year’s college expenses will need to be paid 5 years from today.  There are three more annual payments for the remaining three years of college.)

Part B.  Discussion questions worth 15 points.

